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4. I:I‘?l'c’ﬂ S0l & £AHE HorQ.
0.4km? = I:lha = l:’a

g

o

40

v V. v Vv
02
L

0
n

= . 4000

1km? = 100 ha = 10000a




1km? = 100 ha = 10000a = 1000000 m?
6 km? = 6000000 m?




ol ®A9] Yol km? & &t
e @yt




o

v vV Vv vvyvVYyYVvyy
0
L

100
HE D 100
HE D100
HEHT 10000

1km?2 = 100 ha = 10000 a = 1000000 m?2
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— 900000 + 900 = 900900
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1kg = 1000g , 1t = 1000 kg
1t = 1000 kg = 1000000 g
1t = 1000kg = 1000000 g
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1m? = 10000 cm?

(1) 80 m? = 800000 cm?
(2) 1070000 cm? = 107 m?
(3) 450000 cm? = 45 m?




15. =99 Hole ¥ m? A F5HA L,

T~~4.8m--"

n
B

[ 2
> &bl 10.75m?2

4.3m = 430 cm
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® 4m =400 cm @ 70000 cm? = 7Tm?
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(1) 250 m? + 18000 m? + 4100 m? = 22350 m?
(2) 0.0247 km? 4 0.316 km? + 0.0174 km? = 0.3581 km?
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1t = 1000 kg
3500 kg + 2000 kg + 6400 kg = 11900kg = 11.9¢
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8.4t = 8400 kg
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3.6t = 3600 kg
3600 + 15 = 240(AA})
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